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Exi
X+ 2y = 3 J system
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4 x + 5y = 6 n = 2 unknowns

-

Augmented matrix

(31)
Thesolutiona

space

(x , y)
= (- 1 , 2)- oritst*
is

[( 1,2)]



Ex: Consider
m = 2 equations
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m= 2 equations
n = 2 unknowns
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Def : Given a system of
-

linear equations there
are

three operations that
we call

-elementaryrow operations.

They are :

① Multiply one of the

rows/equations by a

non-zero
number

② Interchange
two
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multiple of one

③ Add a

tion torow/equa
another now/equation
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Ex: (Interchanging two rows)

Tatt
I R

,
E> R2 X + 2y = 35X - Y = ->C [X + 2y

= 3 SX - y = 1

Atrixviewpoint

(i)s) (ii)



# Add a multiple of one row leah (to another row/eqh

Fationviewpoin t -
-

SI X + y
- z = 1

I X - y - z = 3

- 2X - 2Y + 2z
=
- 2 -⑫

t 2x + Y +
2z = 0 -⑫[-- Y + 4z = - 2·

Atrixviewpoint

S
I ↓ - I

ii)



I
( -2 - 2 2) -2)

+ (21210)[-(0 -14 -2)


